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iR MFEEEDNRRHAEH
% 5 s - R B g i & # wE

E R 3,530,450 + 71,469 3,601,919
EREARE 3,530, 450
EEEE 71,469
T Ot IR 3,530,450 x 53.85% ( 35% + (1 — 35% ) ) 1,901,147
BRI 3,601,919 + 1,901,147 5,503, 066
—REEEE 5,503,066 x 53.85% ( 35% + (1 — 35%) ) — 6,467 2,956, 934
B 5,503,066 + 2,956,934 8, 460, 000
HEGEHELE 8,460,000 x 10.00% 846, 000
EHEEH 8,460,000 + 846, 000 9, 306, 000




BEERNRE HEBEENRBRTLES

% i B - BIRTE By % B B & # wm =
BRI 3,601,919
FHE - % - REERB 3,601,919
BRTHEEFRAERD 3,601,919
BEERE 3, 530, 450
RIEET 448, 100
1 FHE# R 1.00 448,100 448,100
X
BERNEEE 449, 650
2 BrREEE 1.00 449, 650 449, 650
X
EXVRF0RE 1,557,700
FEEOHE - B 1.00 620, 200 620, 200
X
4 EIDEHR 1.00 367, 350 367, 350
2
5 BRERSTOEE 1.00 268, 800 268, 800
2
6 REEROLYFLSD 1.00 301, 350 301, 350
s
FEX7) 491, 500
T FHEREEERK 1.00 491, 500 491, 500
%
% - |E 583, 500
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£ m % - IR B B B ff ¢ = #
8 EniipE 1.00 126, 500 126, 500
=
9 hERE 2.00 126, 500 253, 000
=
10 XBM|E 1.00 204, 000 204, 000
=
EERE 71, 469
EERARE 29, 469
11 EXHERE 1.00 29, 469 29, 469
=
AR 42,000
12 ¥BRER 1.00 42,000 42,000
=
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HKEf&
A 1.00 77, 500. 00 77, 500
EXEETHER))
A 1.50 66, 900. 00 100, 350
HER (A)
A 2.50 59, 600. 00 149, 000
HER (B)
A 2.50 48, 500. 00 121, 250
& &t EZEfEH - 1.00K 448, 100. 00 448, 100
E5:2
£ BRURERE IEE D)
£ L g - BIRTE B B B B {# & B W E " %
EXEETHER))
A 1.00 66, 900. 00 66, 900
HER (A)
A 2.50 59, 600. 00 149, 000
HER (B)
A 2.50 48, 500. 00 121, 250
e (C)
A 1.00 40, 300. 00 40, 300
Kifrg
A 2.00 36, 100. 00 72, 200
& &t EZEfEH - 1.00K 449, 650. 00 449, 650
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£5:3
&% BEZOEH - &I EX D)
2 7 % - kTR B g I @ = w =
FEHE GE)
A 2.50 66, 900. 00 167, 250
B (A)
A 3.00 59, 600. 00 178, 800
BE& (B)
A 2.00 48, 500. 00 97,000
&E (C)
A 3.50 40, 300. 00 141, 050
BWE
A 1.00 36, 100. 00 36,100
& it YE%EREH : 1.00 620, 200. 00 620, 200
54
&% : EROFH EX D)
2 # B - kTR B B [ # = S
FERE G
A 1.50 66, 900. 00 100, 350
B (A)
A 1.50 59, 600. 00 89, 400
BE& (B)
A 2.00 48, 500. 00 97,000
&E (C)
A 2.00 40, 300. 00 80, 600
& it YE%EREH : 1.00 367, 350.00 367, 350
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E#5:5
£ BRERESTOER IEE D)
£ L I - BIRTE B 2 fii ) W E w &
EXEETHER))
A 1.00 66, 900. 00 66, 900
HER (A)
A 1.50 59, 600. 00 89, 400
e (C)
A 1.00 40, 300. 00 40, 300
Kifrg
A 2.00 36, 100. 00 72, 200
& &t EZEfEH - 1.00K 268, 800. 00 268, 800
ES:6
£ BREABROEYELD IEE D)
£ L g - BIRTE B 2 fii ] W E " %
EXEETHER))
A 1.00 66, 900. 00 66, 900
HER (A)
A 1.50 59, 600. 00 89, 400
HER (B)
A 1.00 48, 500. 00 48, 500
e (C)
A 1.50 40, 300. 00 60, 450
Kifrg
A 1.00 36, 100. 00 36, 100
& &t EZEfEH - 1.00K 301, 350. 00 301, 350
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2% $BEHREER EX D)
2 7 % - kTR B g B m @ = w =
FEHE GE)
A 1.50 66, 900. 00 100, 350
B (A)
A 2.50 59, 600. 00 149, 000
BE& (B)
A 2.50 48, 500. 00 121, 250
&E (C)
A 3.00 40, 300. 00 120, 900
& it YE%EREH : 1.00 491, 500. 00 491, 500
E#5:8
&% : SAHE 1EYY
3 m B - kTR B g B # = S
FERED G
A 1.00 66, 900. 00 66, 900
B (A)
A 1.00 59, 600. 00 59, 600
& it YEEHERN : 1.00[=] 126, 500. 00 126, 500
£S5 9
8% PRIRE 1EYY
2 # B - kTR B B B # = S
FERE G
A 1.00 66, 900. 00 66, 900
B (A)
A 1.00 59, 600. 00 59, 600
& it YEEHERN : 1.00[=] 126, 500. 00 126, 500
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2% BERE 1EYY
2 7 % - kTR B g I @ = w =
Bk
A 1.00 717, 500. 00 717,500
FERE G
A 1.00 66, 900. 00 66, 900
B (A)
A 1.00 59, 600. 00 59, 600
& it YEEHERN : 1.00[=] 204, 000. 00 204, 000
E= |
&% SHERALE EX D)
2 # B - kTR B B [ # = B =
EBRARE
=R 1.00 29, 469. 00 29, 469
& it YE%EREH : 1.00 29, 469. 00 29, 469
BS 12
2% $BHES EXD)
& zfﬁ B - kTR B = I @ S B =
EBRERE
=® 1.00 42,000.00 42,000
& it YE%EREH : 1.00 42,000.00 42,000




